Grade 5 /NESEHK

1. 5x+28 =50-6x, x =?

a.2 b.9 c.22 d. 28
2. 2/3X3/7=?
a.6/21 b.4/21 c.2/7 d.1

3. B4%0 A-17=100, B+5=23, Cx2=236, A. B, C = HHm K E?
Given A-17=100, B+5=23, Cx2=236, Which is the largest number among A, B, and C?

a. A b.B c.C d. —H&%X

4. SIFMEA0.7K, Lk—LEMR6SER, —CEMRI2MEZX, — EEHRFMNERHERLZ D XK?

The red fabric is 40.7 m long, and it is 65 cm longer than the yellow fabric. The blue fabric is 1234 mm long. What is
the total length of one piece of yellow fabric and one piece of blue fabric?

a. 1884cm b. 1.884m c.18.84m d. 1.884mm

5. AMA+/BEE, NEEXEEZE kT EEEAABERE, thitfE T $3000, Rk 2% 2

Starting from April 16th, May saves x dollars per day until May 9th, and she saves a total of $3000. What is the value
of k?

a. 120 b. 125 c. 130 d. 135
§

Answers: 1.a 2.c 3.c 4.b 5.b



Grade 6 /NE6FEHK

1. 1.4x(4.51+8+3.2) =?

a.9.814 b. 1.5625 c. 8.815 d. 4.609

2. yx80%-20=60 y="?

a. 80 b. 95 c. 100 d. 105

3. TEMER (Fig.) B2 HIEEEEZ, WEBMR K T /INEk0.6677

Fractional parts of the rectangles below have been shaded. Which rectangle best represents the decimal 0.6677?

Fig. 1 Fig. 2 Fig. 3 Fig. 4

a. Fig. 1 b. Fig.1 c. Fig.1 d. Fig.1

4. BEATIRIGR, AR5IFEE, Em300TESITERE, EMs00THHTER, I5IEE T —E330TtMBEE, &
T%hx?

A department store has just opened and, in order to attract customers, they offer discounts. There is a 20% discount
for purchases over 300 dollars and a 40% discount for purchases over 800 dollars. Mom bought a set of kitchenware
for 880 dollars. How much does she need to pay?

a. $528 b. $704 c. 352 d. 176

SHOPPING MALL |

5. E{EEf(Fig. A) BIEEFEH £ K ? (B L : cm) What is the volume of the Fig. A? (Unit: cm) 3072 30
a. 27000 cm3 b. 23625 cm3 i
c. 26325 cm3 d. 3375 cm3 O

Fig. A

Answers: 1.a 2.c 3.d 4.a 5.d



